
 
 
D-27 

 
Lotest%=slote 

                                    -atesto>slot- 
                                   he wears a feather 
 
Ne= ka>i=k^ Tsyani Matk^    lowilay<=t@hkwe     lu=kw# A=l<t      
                                       -wilay<-                 -ukwe- 
it is    this      Johnny Mutt (Denny)   he had a child          a male   Aaron 
 
luway@tskwe.     K@tsa> ok nu    tsutakaha=w$=   ka>i=k^ A=l<t        
     -yat-                                           -hawi-    
 he was called           somewhere           at that time         this     Aaron 
 
tshihaks@       o>slu=n$= latiksa>sh&ha  osk^nhne lutnatay<=t@hkwe.      
      -ksa>-          -a>sluni-      -ksa>-                          -atnatay<- 
when he was young   white        children        together        they used to play 
 
Lotinehl@kwas k<s     ka>i=k^ o>slu=n$= latiksa>sh&ha            
    -nehlakw-                           -a>sluni-      -ksa>- 
 they are amazed always       these       white       children 
 
tsi> ka>i=k^ A=l<t      ya>t@ute tsi> &skah lotest%=slote>  
                                                       -atesto>slot- 
that    this     Aaron          always  that     one     he wore a feather 
 
laonu>al%=lehke.       Kh@le> on^      wahuwali>wanu=t&=se>  
   -nu>alohl-                                               -li>wanutu>s- 
   on his hat                    at last                 they asked him 
 
ka>i=k^ laks@     oh n@hte> aol$=wa>      tsi> ya>t@ute k<s   
           -ksa>-                     -lihw-               
  this      boy           what  is the reason         that      always 
 
ne>n lotest%=slote.     Wah^=lu>,      “Ne kwi tsi> atwa>k^nha   
         -atesto>slot-              -ihlu-                            -atwa>k<n- 
     he wears a feather        he said              it is   that      an Indian 
 
 
 


Other

1.7502034


Other

2.9779623


Other

3.4220457


Other

1.0971425


Other

3.1085749


Other

1.5151014


Other

1.3322444


Other

2.6383688


Other

2.8995945


Other

1.8285707


Other

4.048987


Other

1.7240809


Other

5.120012


Other

2.0636725


Other

3.7616389


Other

1.4367341


Other

3.578781


Other

3.0563297


Other

3.3959231



na>kya>t%=t<.”      Wahotinehla=k%=      ne>n o>slu=n$=           
     -ya>to>t<-                 -nehlakw-                  -a>sluni- 
 my kind of person        they were amazed             the whites 
 
tsi> tho nihaw$skla     tsi> ni=y%t ne>n o>slu=n$=. 
               -wiskl-                 -oht-        -a>sluni- 
that   he was as white         as the way it is      the white people 
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